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1 33 21 382
2 30 20 324
3 34 22 338
4 34 22 317
\ 5 35 25 341
¢ 6 32 23 360
////////;7 7 34 23 339
8 32 21 329
9 28 22 218
10 35 22 402
11 33 23 342
0.771 12 28 20 205
0.138 13 32 22 368
14 28 23 196
15 28 19 304
16 30 23 294
17 29 21 275
3 18 32 24 336
0.537 19 31 20 384
20 35 24 368
SAS PROC CORR partial
proc corr, (Pearson), N = 20
var min guest; Rho=0 Prob > |r|
partial max;
run, min guest
min 1.00000 -0.51511
0.0240
guest -0.51511 1.00000
0.0240
-0.515 0
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12-2 SAS
PROC REG

data icecream; Dependent Variable: guests

input day max min guests; Analysis of Variance

cards; Sum of Mean

1 gg gcl) ggi Source DF Squares Square  FValue Pr>F
3 34 5 338 Model 2 45509 22755 20.07  <.0001
4 34 29 317 Error 17 19272 1133.67618

5 35 25 341 Corrected Total 19 64782

6 32 23 360

7 34 23 339 Root MSE 33.67011  R-Square 0.7025

8 32 21 329 Dependent Mean 321.10000  AdjR-Sq 0.6675

9 28 22 218 Coeff Var 10.48586

10 35 22 402

11 33 23 342 Parameter Estimates

12 28 20 205 Parameter Standard Standardized
12 gg gg igg Variable DF  Estimate Error tValue Pr>|f Estimate
1 2 - Soa ntercept 1 -77.18642 11856103  -0.65 05237 0
17 29 21 275 max 1 22.72126 3.63566 6.25 <0001 0.98014
18 32 Y 336 mn 1 -1458371 5.88556  -248  0.0240 -0.38862
19 31 20 384 )
20 35 24 368

broc reg;

model guests=max min / stb;

printr;

run;

auit:

guests 22.721x max 14.584> min 77.186
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1) Analysis of Variance F
null model
2) Adj R-S
(R-Square)
3) t
4)
K
54 .67
%
12-4 (multicolinearlity )
SAS 1
1
( [r]=0.9 )
VIF (Variance |Inflation
Factor; ) VIF VIF
5 VIF>10
proc reg;
model guests=max min / stb vif;
printr;
run;
quit;
Parameter Estimates
Parameter Standard Variance
Variable DF Estimate Error t Value Pr> [t Inflation
Intercept 1 -77.18642 118.56103 -0.65 0.5237 0
max 1 22.72126 3.63566 6.25 <.0001 1.40555
min 1 -14.58371 5.88556 -2.48 0.0240 1.40555
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SELECTION=STEPWISE !

SELECTION VIF

proc reg;
model guests=max min / stb vif selection=stepwise;
printr;

run;

quit;
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print
r

(Student Residual) 2

Adj R-S R-Square

VIF

stepwise rsquare
1 (rsquare p (2p-1) )
(forward ) (backward

)
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